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GENERAL INSTRUCTIONS-

I.  Question paper is divided into 4 sections A ,B,C&D
II. In section A question number 1 to 17 are MCQ type questions.
III. In section B question number 18-23 are SA type questions(80-100 words). Question 18 & 19 are Source
based questions.
IV. In section C question number 24 to 28 are Long Answer based questions (120-150 words).
V. Insection D question number29&30 are Map based questions having 5 sub parts.
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SECTION A
There are 17 questions in this section. All are mandatory.

sH TS H 17 WA §1 Taft rfAarT §1

1. The term geography was coined by 1
a) Aristotle
b) Socrates
c) Eratosthenes
d) Thales
$[INeT s, fohgeh SaRT AT fomam arar e
a) &
b) I
c) W’Tﬂ?ﬁﬁ
d) ded
2. Island countries located in the Indian Ocean which are our neighbours 1
a) Sri Lanka and Maldives
b) Nepal and bhutan
c) Australia and Newzealand
d) None of the above

fég FAeTaR A EUrd e ¢er St gAR ISy g2r &
a) Hrelet 3R AT



b) AdTel 3R 7eTeT
c) FEferm 3R wgshels
d) 39RFT & & IS o8

3. Assertion (A) Terrestrial planets are rocky in nature. 1
Reason (R) Terrestrial planets were formed closer to the sun where it was warm for gases to condense to solid
particle.

a) AandR aretrue and R is the correct explanation of A.
b) Aand R true but R is not the correct explanation of A.
c) Aisfalse but R is true.
d) Aistrue butRis false.

3fHFUT (A) WT 715 Tt # T ¢ |

SROT (R) IIT¥a 718 G & HUS g1 A ST INGT &SI U1l & Hefeld glet o ToIT g I T
a) AIRRITE IR AFI T I=AT R
b) AR RTTE AT R A T HET cTTEaT el g |
o) A T E afFT R TR

d) A T g fhad R 3TET &
4. Which ancient sea was in place of Himalayan mountain? 1
a) Tethys sea
b) Southern Ocean
c) Arabian Sea
d) Indian Ocean

TRHTCT Td T o TUTeT TR hleT AT UTelieT T AT?
a) <fFERR
b) IO AR
c) 3T IR
d) fég #AgEmER
5. Which of the following is correct order of planets starting from the sun? 1
a) Mercury, Neptune, Mars, Earth
b) Mercury, Mars, Earth, Neptune

c) Mars, Mercury, Earth, Neptune
d) Mercury, Venus , Earth , Mars.
Tl 3 & e a1 gF & % g aTeY 31T T W A 2
a) T, TEUT, HITST, g2l
b) &I, HaTeT, 2, AT
c) FHITSA, J&I, gl AqGeT
d) &, sk, G, Harel |
6. Which of the following is the oldest landmass of India ? 1
a) Northern Plains
b) Peninsular Plateau
c) Himalayas
d) Aravali
fAe=T TR 1 & hleT R T T QAT $319T 2
a) 3l Al
b) URIEAIYT YSR
c) AT




d) 3RTaer

7. Which waves cannot pass through liquid materials?

a) Primary waves

b) Secondary waves
c) Surface waves

d) All of the above

hieT HY TN g Terdl & et T8l o Hehell?

a) 9TATAS aET
b) Eidciiaeh aiar
c) HdE dwEr
d) FUX & T

8. Which one of the following materials is affected by hydration process?

a) Granite
b) Clay
c) Quartz
d) Salts

Arafaf@a & O 9 a1 uerd! Saaaa uishar & yanfag grarg?

a) J=IsC
b) fAed
c) FaTESt
d) dHSR
Assertion (A) River Kosi is called the sorrow of Bihar.
Reason (R) It causes devastating floods.
a) AandR aretrue and R is the correct explanation of A.
b) A and R true but R is not the correct explanation of A.
c) Aisfalse but R is true.
d) Aistrue butRis false.

3TRFY (A) SR ST I FIgR T 2Nk gl AT & |
$ROT (R) Tg TAATRRY TG T HRUT TAdT & |

10.

a) AR RITE 3R, A ST TET TT=AT HIAT &
b) A3RRIE§ AR R, A T TEY ITE=AT LT §

) A AT g AT R T
d) A T §IfFa R 30T B

Match the following

Column | (Atmospheric Conditions) Column Il (Layers of Atmosphere )
A. Temperature falls with height 1. lonosphere

B. Reflects radio waves back to earth 2. Stratosphere

C. Contains most of ozone 3. Tropopause

D. Fallin temperautre slope 4. Troposphere

a) A-4,B-2,C-1,D-3
b) A-3,B-2, C-4,D-1
c) A-4,B-1,C-2,D-3

d) A-4,B-3,C-1,D-2
ﬁmﬁrf}@?r I AT



HIcTH | (ATGHS I G2TT) HIcTH || (ATFHSS hl Tl

A. dT9ATH 378 & a1 FRAr g 1. TTTHS S

B. X3 ot bt arqd gt oX wRrafeld e & 2. GHAY Hs e
C. 31f8reprer 3l enfAe 1 3. &NHAAT

D. FHLMAISOT Tollel H AT 4. NHASH

a) A-4,B-2,C-1,D-3
b) A-3,B-2,C-4,D-1
c) A-4,B-1,C-2,D-3
d) A-4,B-3,C-1,D-2

11. Identify the incorrect statement.
a) Atectonic plate is a massive irregularly-shaped slab of solid rock.
b) A plate is generally composed of either continental or oceanic lithosphere.
c) A plate may be referred to as continental or oceanic plate.
d) The thickness of tectonic plate varies between 5-200 kms.

AT HU FT ggdTeT HIfAT |
a) T FelfaAch Tolc ST TCCTeT I Teh TR TAIAT 3THR &7 Told &
b) Teh Telc 3TH dX TR AGIEATAI AT AGIATTRIT TAAHSH H il gIcil ¢ |
) U TolT HI AGICATIIT AT AGTARRIY Tol & & H T TaTd TohdT ST FehdT g |
d) Feifae voe Y Alers 5-200 freT & ST g1 81

12. Arrange the correct sequence of column Il against column |.

Column | (Agent) Column Il (Landform)
Wind 1. Rapids
Underground water 2. spits
Running water 3. Playa
Waves 4. Dolines.

(@ M-31vV-111-41-3

(b) 1-41-31V-2111-1
(€ 1-31-11V-211-4
(d) M-41V-111-31-2
HITH | & GTH PITH || & TgT el Y TI AT H |

P | (FR) BT || (TUAEY)
gar 1. faerre
GECECC] 2. Toqe
SgdT 9reir 3. T
RS 4. 3TellSel
13. Read the following and choose the correct. 1

1 Tibet is a cold dry desert

2. Rivers comes from the central highland are Chambal, Betwa and Son

3. Penninsular Rivers are comparatively smaller and shallow than Himalayan Rivers.
a) Only1
b) Only 2



c) Only3
d) Al
fAFfaf@d @1 9fev 3R FEY 1 g1g HIfSv|
1 foieaeT Ueh &7 5 ALEU §
2. AT 3T A A A ATl ATGAT TeTer, Scfar iR |l §
3. FrIeA AT fEATer ATl T JoreTr # 31deThd BIé R 3Uen ¢

a) Hhddl 1
b) hddl 2
¢) had 3
d) §elr
14. Which of the following is an example of endogentic forces? 1
a) Erosion
b) Volcanism
c) Weathering .
d) Deposition
Aafaf@a & O Sl 3iasTa Tl &7 381807 &7
(a) 33Ut
(b) SaTCTHEIAT
(c) 39UaTd|
(d) fgrqor
Read the case study given below and answer the questions carefully. (15to 17) (1x3=3)
The mainland of India, extends from Kashmir in the north to Kanniya kumari in the south and Arunachal
Pradesh in the east to Gujarat in the west. India's territorial limit further extends towards the sea up to 12
nautical miles (about 21.9 km) from the coast. Our southern boundary extends up to 6°45' N latitude in the
Bay of Bengal. Let us try to analyse the implications of having such a vast longitudinal and latitudinal
extent. If you work out the latitudinal and longitudinal extent of India, they are roughly about 30 degrees,
whereas the actual distance measured from north to south extremity is 3214 km, and that from east to west is
only 2933 km. This difference is based on the fact that the distance between two longitudes decreases towards
the poles whereas the distance between two latitudes remains the same everywhere. Find out the distance
between two latitudes? From the values of latitude, it is understood that the southern part of the country lies
within the tropics and the northern part lies in the sub-tropical zone or the warm temperate zone. This
location is responsible for large variations in land forms. Climate, soil types and natural vegetation in the
country. Now, let us observe the longitudinal extent and its implications on the Indian people. From the values
of longitude. it is quite discernible that there is a variation of nearly 30 degrees, which causes a time ifference
of nearly two hours between the easternmost and the westernmost parts of our country. You are familiar with
the concept of Indian Standard Time (IST). What is the use of the standard meridian? While the sun rises in the
north-eastern states about two hours earlier as compared to Jaisalmer, the watches in Dibrugarh, Imphal in the
east and Jaisalmer, Bhopal or Chennai in the other parts of India show the same time.
15. What is the range of longitudinal extent of India?
a) 25°
b) 30°
c) 15°
d) 82°
16. The landmass of India to the north of tropic of cancer lies in which of the following zones?
a) Tropical zone




b) Equatorial zone
c) Warm temperate zone
d) Tundra zone

17. What is the main reason behind the difference in time zone in eastern and western states of India?
a) Latitudinal variation
b) Climatic variations
c) Longitudinal variation
d) Altitudinal variation

ST f&U 910 e Y &1 U6 31X 92adl & 3o ehTeTqdeh &1 (15 § 17)
HRT T HET A 3T & AR § ol SfaT0T H SearpARY b 3R qd H 3R0Terel veer & giRes &

Wﬁﬁwﬁgé%l I T HATCANT &1 T FHg hl I 12 FHGT HYeT (oFaT87aT 21.9 Thellefex) b

el g3 & |
EAR & F1 AN W Sorer H @ F 6°45 IR AT & ATy R @ ¥l 3, & oy 92
37871 T SR [ATdR & IRUTAT T TaeiyoT | IS 3T HRA o &N 3R STaT TaEar fr
IOTAT Y ol Fg ST 30 §. Sk IR A SAI0T ofeh gHeT arediash gl 3,214 el 3R qd &
aiREH deh SHehT GJT hdel 2,933 TohollHIC &1 S8 3iclT T AT HRUT &2 T§ 3 TH AL W 3R § T
gal & AR ST FAT & SRATAT 3@ & e Y gff v STl §, S av T W@ & < gt &%
STaTg Ueh &Y T@cil. ©1 &I 3&Trer JWM3HT & &< ahr gdt 11T TSI | 31&Ter YWt & Al § A1 8idm & T
TR T faolY fRear Isurerfeaer & 31T 3o fREdr 39IYoT shfeaer 372ar hisur fidrsoT shfeaer & feua &
T TRl 21 A $3Th(al, STorary, fAEET & YehRT TUT UTehfcieh Goeqid # IS STl aTell $RY ffestar &
forT, 3aErR &1
3TsT! 3T §H ST fAaEar 3R $IRA & 9l W 3T TG T 37ETTT | SATR @13 & A= I
IS BT & Toh STo1 ofarster 30 3307 o1 3{cR § ST §AN 20 & HaW Yl  Fad iR+ el & qoa 7
ST 2 el T 3R YeT FHAT &1 3T HRAT ATedsh THT T Ugel & & IRAT §1 AT IR &1 &1
3YANET §? 519 TR-GT AT F SFAAT & Jeolell H I &F € Ygel 367 gl ¢ af I # 35976, il
AT &2 & 31T AT H FTUT SIHAR, HIUTer 3UAT doals A g3 Ueh ol THY @ g
IR & AT [aFdR S HAT Fa7 872

a) 25°

b) 30°

c) 15°

d) 82°

d) ggrerd
HRA o g 3N T Tt # TAT &7 H e} o NS FTT ROT FATE?
a) 3187 fReatar
b) STerary qRece
) SRMedr fHestar
d) s fAeeaar

SECTION — B
Question numbers 18-23 are SA type questions. Question 18 & 19 are Source based questions.



SR T 18-23 o 3THIT YehR o UReT 81 99T 18 3R 19 Fiet e et |

18. Read the following passage and answer the questions that follow: 1x3=3
The Ganga is the most important river of India both from the point of view of its basin and cultural
significance. It rises in the Gangotri glacier near Gaumukh (3,900 m) in the Uttarkashi district of Uttarakhand.
Here, it is known as the Bhagirathi. It cuts through the Central and the Lesser Himalayas in narrow gorges. At
Devprayag, the Bhagirathi meets the Alaknanda; hereafter, it is known as the Ganga. The Alaknanda has its
source in the Satopanth glacier above Badrinath. The Alaknanda consists of the Dhauli and the Vishnu Ganga
which meet at Joshimath or Vishnu Prayag. The other tributaries of Alaknanda such as the Pindar joins it at
Karna Prayag while
Mandakini or Kali Ganga meets it at Rudra Prayag. The Ganga enters the plains at Haridwar. From here, it flows
first to the south, then to the south-east and east before splitting into two distributaries, namely the Bhagirathi
and the Hugli. The river has a length of 2,525 km. It is shared by Uttarakhand (110 km) and Uttar Pradesh
(1,450
kin), Bihar (445 km) and West Bengal (520 km). The Ganga basin covers about 8.6 lakh sq. km area in India
alone. The Ganga River system is the largest in India having a number of perennial and non-perennial rivers
originating in the Himalayas in the north and the Peninsula in the south, respectively. The Son is its major right
bank tributary. The important left bank tributaries are the Ramganga, the Gomati, the Ghaghara, the Gandak,
the Kosi and the Mahananda. The river finally discharges itself into the Bay of Bengal.
1. River Ganga enters the great plains in which of the following states

a) Himachal Pradesh

b) Uttarakhand

¢) Punjab

d) Haryana
2. Ganga forms the world’s largest delta in Bay of Bengal along with which other river?

a) Kosi

b) Yamuna

c¢) Brahmaputra

d) Son
3. The flow of Ganga is characterised by which of the following landforms in the Himalayan regions?

a) Meanders

b) Gorges

c) Deltas

d) Lakes

33T $TRT T HH HETa YT 16T § | TE AT STRIEUS T & SRRl fovel & M@ o foehe et feeie
¥ 3.900 HieT 1 32S A fAermelcll &1 TeT Tg AR & A1 § SN Sl &1 T§ ALY J o TgATerdy ATOAT
T IC Y 9T HGIESST H BT ol &1 SavmeT 7 1R, 3HeTeheiar & fAere § 3R 58 a1 aiem
FEAATCT &1 JTeTeiaT 4T T Ui TGS & SR FAITY {eeTe § | & 3redheiar, dielr 3R fasoy srem amrait
O fASRT SeTcll &, S Shehers a1 fasorsmT & Ao §1 3rcrshaiar 1 31=g Fgrge «1d1 [UsK &, o gad
0T 91T 7 AT 8, STafoh AGIfohatt AT FTell 79T SHA FEUATT H AT § | IR G gREIR H Hered H
AR L &1 TGT § TG Tl GIAT0T T 3N, Y SFET0T-gd hr 3R 3R Y g 1 31 S5t §1 31 #, Ig
CTETUTHE GlehT &F STelfda RT3l (URT31) HIERT 3R deaAT & faenfore g Sirel &1 38 #1dT T oS 2,525
forelidIe §1 I8 3TU@Us & 110 freliHIe, 3a39eer & 1,450 fohelidiey, [98R & 445 forelidiey 3tk afRgs
ST F 520 forelteey AT T AT T 79T G Shdol HRA H IETHT 8.6 I JoT farelide &7 7 thelr

g5 ¢ % $IRd & FaH F3T 39aTg oF &, o8 3o & BHATT 8 eholel dlell IREARN T 3feicgarer
sttear 31X gfaror 7 yraedia & el arelr fcaarer afear anfae §1 | 38 arfget farak oY o=




aTell S E WETdeh A1eT g 919 ¢ 9T [Helel arell AgeaquT TeTaeh Aieal IHII, INHI, HTERT, 35, Hrdr
T Agleial &1 AR @Y & e Ig AT 3icdd: saTTel & @ra) # S e ¥

1. IR 6T fAeaAfafad 7 & 5T T & gla A= H JaT Fldl &
a) feomaer uear
b) 3TTES
¢) 9o

d) g
2. I3 TRy 31 18T o ATY §3TToT T Wrat H 32T &l T J37T Soel doTar g7

a) ST
b) T
¢) SEAYT
d) &l
3. 97417 &7 YaTg e ATerdY &1 7 fe=ifoliee & & foha 81-3mepfcral &bt faear g2
a) e
b) arfear
c) Socl
d) et

19. Study the given graph carefully and answer the following questions: (1x3=3)
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(1) According to the graph the correct sequence as per height (increasing):
a) Thermosphere - stratopause - mesosphere
b) Stratosphere - mesopause - mesosphere
c) Mesosphere - mesopause - Troposphere
d) Troposphere - stratosphere- mesopause

(2) According to the graph the range (in KM) of mesosphere is:
a) 40-50
b) 80-120
c) 50-80



d) 30-90
(3) According to the graphs tropopause is lie between Stratosphere and :
a) Thermosphere
b) Mesosphere
c) Tropopause
d) Troposphere
f&T 1T I 1 eATeTYden 3reads HY AR Arfaf@d geat & s d:
5 o e
e T

(1) T & 3THR FTS (FGd) o HTAN Hel hH &
a) dATEY AGHSH - HHAY AT - HEIHSA
b) AT ASel - ALIHAT - ALTHS
c) ALIHASH - ALIHAT - SNHASH
d) &S - AT HSof - HLIHSA

(2) AP o HTEN AEIHSST ol HAT (Tohelt H) &
a) 40-50
b) 80-120
c) 50-80
d) 30-90
(3) T o 3THR &MITHS 3R FHAAT Hel & ofrr e &
a) dEY AYHSH
b) HEIHS
c) &MSTEAT
d) &neHse

20. Q. Differentiate between divergent and convergent plate boundaries.
AT JTAART Tl HATIT H I TISC |

Or
What are the evidences in support of the continental drift theory?

AeTeard fawardsT facuid & FAdT & Sl & JHTT 82




21. "Rainfall in India is orographic in nature." Give three examples with reference to the distribution of rainfall
and the effect of relief on its distribution. 3

"HRA H AN Y Gacha 1" s & faavor 3 38 faeror W 3=arae & 91 & e ey H oliel 3ame<or
AIELY

22. Why the Tamil Nadu coast remains dry during the monsoon season? In which season it receives rainfall?
A & AHH H ATRAATG e Y F4T el §? Tgl avl fehe HGH H giell 82
3
Or

"In spite of abundant rainfall, India is a water thirsty land". Why is it so?

"I AT H IS oh STao]e;, R T & arel hr caredr 8" | v i g2

23. Distinguish between western and the eastern coastal plain? 3
afRes 3R qdf TEr HAereT 7 3R Fare?
Secion —C
In section C question number 24 to 28 are Long Answer based questions (120-150 words).
TS T H U%T TEAT 24 T 28 S1e 3AUT 9 § (120-150 2AaT )

24. Explain different types of earthquakes. 5
=of 9K & SJEF»C“ cqTEd] |

25. What are the important geomorphological features found in the river valley plains of India? 5
HR oS8T ©1T el H IIT ST aTel AgeaquT $73MTehicieh oT&ToT o &7
26. Explain the landforms that are seen in upper part of the river. 5
SAEY & SO 1T H Fa@TS St arelY 87-31epfardt it earear Hifav|

Or
Explain the landforms made by erosion caused by under groundwater.

AT STel o T glaA aTel 3TRCEed § Sl 87-3Meh T T eITET HIfST|

27. What are the important characteristic features of north Indian rivers? 5
3R AR ATt T v faAvard g2
28. "Our earth is a playfield for two opposing groups of geomorphic processes." Discuss. 5
"EHRY G 87-3TTh T TTshaT3HT & & TaRel Faggt o folw Ueh Wef &7 Herel §1" =i Hifaiw |

Or

What are the main factors affecting soil formation? How these factors are helpful in soil formation?
#HeT TAATT T GHITAT el dlel THE R hie-Q §? T HReh Fel AATT H fohe JohR FeTIeh 81 87
SECTION - D
In section D question number29&30 are Map based questions having 5 sub parts.

s & H 9T &AT 29 3T 30 AT 3meana wea § foatet 5 3usmer £
29.0n the given political map of the world, the following seven features are shown. Identify any five of these
features and write their correct names on the lines marked near each feature. (1 x5 =5)

{32T & QU 9T Toleliaieh AT T ATl d A1d T9AYATT &S 1S &1 3197 I fheel Uier ofaTofy &t
UgdIoIT AT 9 3V & Aere 37fera @131t 9 37 T8) a1 QU]

a) Minor plate
b) A continent
c) Acountry

d) A hot spot

e) A Major plate



f) Anlsland

g) Asea
a) U DI ol

b) Teh HgledIT
c) Teh 2T
d) U I3 TATA
e) U YW Tolc
f) Teh gdlg
g) U HHAg

30. On the given political map of India, locate and label any five of the following with appropriate symbols :

AR & feT 1T Aot AT W, o f@d & & foregl urer &t 3ugerd et & @ geidia hifew
: (1x5=5)

a) Tropic of cancer

b) Western ghats.

c) Coromandel coast.

d) Longest river of peninsular India.

e) Ariver on which Hirakund dam is located.

f) A place receiving the highest amount of rainfall in India.



Q.30.

Southernmost tip of peninsular India.

heh T

gfeasT e |

PRIAS dc|

U AR S Fad ofell o161 |

Teh A 578 W ERTs STy RUd &l

T & FaIieh auT gTed Tlel arell TATT|
YIIGATIT (R & Fed Giaol S|
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